1—EFEBREE 300K - A BMASRIEEMIKERLE - BEREAMT 1 2EEE  BR@MT 5 2EFILIE
tz -AEESR () X/9 BEESR () K/9 - (Acircular track has a circumference of 300 meters. A
and B start simultaneously from opposite ends of a diameter. If they walk in opposite directions, they meet
after 1 minute. If they walk in the same direction, A catches up with B in 5 minutes. What are the speeds of A
and B in meters per minute?)

EE1:90

EE2:60

2—EEFFARNERS 4 EX - MREGHEBIMN 4 B2 HERN/NEST - BESENESTEHERZLVER? (A
square piece of paper has a side length of 4 centimeters. If it is cut into 4 identical smaller squares, what is the
perimeter of each smaller square in centimeters?)

A4

3—EIEAFRERIEN 2 BEXKE - MMERFEBLRESFEEAK 36 LHFEX - RIEATKERRZ ? (Theside
length of a square is increased by 2 centimeters, and the area of the new square is 36 square centimeters larger
than the area of the original square. What is the side length of the original square?)

A7

4Trump REREIBRE - A—FBESTE—FRERERE - LEREIXE - 51 1/3 KEESE - & 2/3 BELT  &RE
BROBELEERAANREZ 2 /0 - 28 Trump STHNRERSE/NE S5 T - FERELSE/NEF 15 FX - IBE
Trump #RFIERMEERE () FK? (Trump walks the first half of the distance from home to school and
takes a car for the second half. On his way back from school to home, he takes a car for the first third of the
time and walks for the remaining two-thirds. As a result, the time taken to go to school is 2 hours more than
the time taken to come back home. Given that Trump's walking speed is 5 km/h and his driving speed is 15
km/h, what is the distance from home to school (in kilometers)?)

%% :150

5. 100 K - Biden Z3E 180 & - Kelvin 23 120 % - Biden # Kelvin BIFSEA@HER—ithEHEE - IRSE—
SRS - ABEE Kelvin ZEH 450 SKEEEIE - BEE () HAHEEF Biden ? (Biden needs 180 steps
to walk 100 meters, while Kelvin needs 120 steps to walk the same distance. Biden and Kelvin start walking
from the same point in the same direction at the same time, with each step taking the same amount of time.
How many steps will Kelvin need to walk back to meet Biden after walking 450 meters forward?)

2 :108

6.—HIfF A -BEMEA4/NRETH B CEMES/NHTM - REFRBA - CEM2/N\KE 8- T BEHRM 6 /)
B5eak - B BBMEEtIEE () /B ? (Ajob can be completed by A and B working together in 4 hours,



and by B and C working together in 5 hours. Now, A and C work together for 2 hours, and then B completes the
remaining work in 6 hours. How many hours does it take for B to complete the job alone?)

BE: 20

7—ESWAARKRE : 2,5, 10,17, 26 - #EARIRME - BRI —RETHWFEIUE (#1HKB) WESZ
M -FEARIEZZD ? (The first five terms of a sequence are: 2, 5, 10, 17, 26. Starting from the sixth term, each term
is the sum of the previous term and the square of its position in the sequence (starting from 1). What is the
sixth term?)

A.37

B.49

C.57

D.62

=D

BAE-EEBNBERE MRPEWEZn IEE = EZMWMZEZD ? (There are three consecutive natural numbers.
If the middle number is n, what is the sum of these three numbers?)

A.3n

B.3n+1

C.3n+2

D.3n-1

BE:A

I.MREEENES - e REEEE 2 /K - MAT—RAEEE 1/\F - —XK LEFE - Cindy BB TEM
REBEE  BETHEEKET - Cindy SR EBRBER - FRAEBNESMEBHO2E B .8 ()
73# ? (Two candles of the same length are used. One thick candle takes 2 hours to burn out, while one thin
candle takes 1 hour to burn out. One night, the power went out and Cindy lit both candles at the same time to
read. After a certain number of minutes, the power came back on, and Cindy extinguished both candles
simultaneously, finding that the length of the thick candle was twice that of the thin candle. How many minutes
was the power out?)

&E: 20

10— ##iE - MRDBESEH - FHOBARK 6 R IRENHBRER  FHEBAR 10R - BENHESLER - FHBA
# () 18?7 (Abatch of saplings is to be planted. If both boys and girls plant them, each student plants an
average of 6 saplings. If only the girls plant them, each girl plants an average of 10 saplings. How many saplings
would each boy plant on average if only the boys plant them?)

&% 15

11 BE3HBUE TM LIRTHRE  MukTLE SRFEIEEIAOR  ZBFEHEE20R  &REETF2H
EEER & T 3 DEEIEE - BZEESKEEZ DR ? (The escalator is moving upward at a constant speed.
Two children are going up: the boy walks 40 steps per minute, and the girl walks 20 steps per minute. It takes
the boy 2 minutes to reach the top and the girl 3 minutes to reach the top. How many steps does the escalator
have?)

A -108

B-120



12 F8KEEA 10 ERAFE - RAKENKUESKBRZEER - LIFTKEER-—ENRERAKE - BT - BH
DU KRE - RERSERPURENERERR - SRS - BT 1 EREE - &30 B/NSKUREZSR  EERTH
2 EEHRE - 10 B/NRKUBEZRER - REKBBERA 25 /N\REKUBREZEZRT - BELPEZEFTRZ/MER
F9 - (A reservoir has 10 floodgates. The water level in the reservoir has already exceeded the safety line, and
upstream river water is still flowing into the reservoir at a constant rate. To prevent flooding, the water
discharge rate needs to be adjusted. Assuming each floodgate discharges water at the same rate,
measurements show that if 1 floodgate is opened, it takes 30 hours for the water level to drop to the safety line.
If 2 floodgates are opened simultaneously, it takes 10 hours for the water level to drop to the safety line. Now,
the water authority requires that the water level be reduced to below the safety line in 2.5 hours. How many
floodgates need to be opened simultaneously to achieve this?)

A-7

B-8

c-9

- 10

CA

@)

IS

b

134 584 28 ROLUESE 10 AEKIS E28E - 7 4 63 RalE5 30 ABYIS F28040es  BEE605E ()
KOPIZ5E 40 RRBUS E2EWE ? (BRREYG LREESHSE BEQBRYS L BRERESEME ) «(4 cows can
eat all the grass on a 10-hectare pasture in 28 days. 7 cows can eat all the grass on a 30-hectare pasture in 63
days. How many days will it take for 60 cows to eat all the grass on a 40-hectare pasture? (The amount of grass
originally on each hectare is the same, and the daily growth rate of grass on each hectare is also the same.))

EE .6

1—#TIfF A -BEMFE4/NEBTM - B CEHES N - REXB A  CEHM2/NBE - BHRHIHBERM6 /)
B2k - B BBMEEtIEE () /B ? (Ajob can be completed by A and B working together in 4 hours,
and by B and C working together in 5 hours. Now, A and C work together for 2 hours, and then B completes the
remaining work in 6 hours. How many hours does it take for B to complete the job alone?)

E=xE:.20

2—EHIMETRIRGRE : 2,5, 10,17, 26 - #EAEMRYE - S—REN—RETHFEIUE (157K ) WEAZ
M -EARIEZZD ? (The first five terms of a sequence are: 2, 5,10, 17, 26. Starting from the sixth term, each term
is the sum of the previous term and the square of its position in the sequence (starting from 1). What is the
sixth term?)

A.37

B.49



3AE-EEBENBE AR MRPEWEZn APEE = EZMMZEZ ) ? (There are three consecutive natural numbers.
If the middle number is n, what is the sum of these three numbers?)

A.3n

B.3n+1

C.3n+2

D.3n-1

BE:A

4—HEE NRIEBEH - FHEBAR R, IRENHELER - FHOBAR 10K - BNHASER - FHI8A
#H (___ )8 ? (Abatch of saplings is to be planted. If both boys and girls plant them, each student plants an
average of 6 saplings. If only the girls plant them, each girl plants an average of 10 saplings. How many saplings
would each boy plant on average if only the boys plant them?)

E=x .15

S.EEHRBEUE TN LEIRTHE  MUKTLE BREFEIEEIOR XEFEBDEE20H BREETF 2 iE
BEE L RT3 HiEFIEE L BMZBEEBKEEZ VR ? The escalator is moving upward at a constant speed.
Two children are going up: the boy walks 40 steps per minute, and the girl walks 20 steps per minute. It takes
the boy 2 minutes to reach the top and the girl 3 minutes to reach the top. How many steps does the escalator

have?

A - 108

B-120

@]

- 126

w)

- 128

I

b

:B

6.4 B84 28 XOJLUIZ5E 10 RIEYES E2EE -7 884 63 RAIMIZ5E 30 ARHUS 2 HHE BRE 60 R4( )
ROz 40 AERG E2EHNE ? ( BRARYS LREEENRS BEQARYS LEBREREEME ) -4 cows can

eat all the grass on a 10-hectare pasture in 28 days. 7 cows can eat all the grass on a 30-hectare pasture in 63

days. How many days will it take for 60 cows to eat all the grass on a 40-hectare pasture? (The amount of grass
originally on each hectare is the same, and the daily growth rate of grass on each hectare is also the same.)
BE:6

7T—EEAFARKERS 4 EXK - MRGEBM 4 B2 HRNNERT - BESENEAFTEHNERESVEK?A
square piece of paper has a side length of 4 centimeters. If it is cut into 4 identical smaller squares, what is the
perimeter of each smaller square in centimeters?

A4

8 —fEIESZRIERIBM 2 BXR%E - HWEHSFHEBERERFZEERK 36 FHENK - RIESFFHIERR ? The side



length of a square is increased by 2 centimeters, and the area of the new square is 36 square centimeters larger
than the area of the original square. What is the side length of the original square?
A7

9.EEI5 8 : 30 FIR R - BEMBAEEE - #E—BREKIFE - S/BRNKRS AR KD - R 3 @R
F0 A8 39 MABBAREK ; IR S ERED - B 8 : 35 M8BANKE - EE—EREZENRKREBZ ( )
5 -The theater starts ticket inspection at 8:30, but there have already been people queuing up. From the time

the first visitor arrives, the number of visitors arriving each minute is the same. If 3 ticket inspection counters
are opened, there will be no more people in line by 8:39. If 5 ticket inspection counters are opened, there will
be no more people in line by 8:35. What time did the first visitor arrive?

EE:.7:45

10408 - EMSENESEENERRZ 1 FAEX - RIFARAIBFENEEZ( )JEFHEK - As shown in the figure,
given that the area of each small square grid is 1 square centimeter, the area of the irregular shape is ( )

square centimeter ?

11A-BC D ERAAE—TRNH 100 PHERD A5 M 5D BEF—F CEIEABDWFEHL  DESH
SERANTHES EbCZ2H 2% "% ABET ( ) % ?In an exam with a maximum score of 10

0, five people, A, B, C, D, and E, took the test. A scored 94 points, B got the highest score, C's score i
s the average of A and D's scores, D's score is the average score of the five people, and E scored 2 p

oints more than C and got the second highest score. What score did B get?

I3
b

: 98

12.AB A S@REBE ERDS - HEMERESHWWIT - MRMMEIR LS - WE A 5T 60 KFE—RAE -
B i —EliE= 80 KEHMAE _RAAE - KIENRZ( )>k ? A and B are running at a constant speed in o

pposite directions around a circular track, starting from points at opposite ends of a diameter. If they s



tart at the same time and meet for the first time when A has run 60 meters, and they meet for the se
cond time when B has 80 meters left to complete one full lap, what is the length of the track in ()

meters?

%

b

: 200

1—EEFFRERIZMN 2 EE HWESTEBLREAFEEA 36 FHEX RIEFFRIERR ? The side length
of a square is increased by 2 centimeters, and the area of the new square is 36 square centimeters larger than
the area of the original square. What is the side length of the original square?

A7

2.EEIS 8 30 FRE - BEMBAREREE - #E—BRERIFGE - S/oBRNKRS AR KD - R 3 @R
F0 A8 39 MABBAREK ; IR S ERED - B 8 : 35 M8BAKE - IEE—EREZENRKREBZ ( )
5 -The theater starts ticket inspection at 8:30, but there have already been people queuing up. From the time

the first visitor arrives, the number of visitors arriving each minute is the same. If 3 ticket inspection counters
are opened, there will be no more people in line by 8:39. If 5 ticket inspection counters are opened, there will
be no more people in line by 8:35. What time did the first visitor arrive?

EE:.7:45

3.ME - BMEE/NESHEENERE 1 FAEXK - AIRAIBRNEREZ( )SEAEK - As shown in the figure,
given that the area of each small square grid is 1 square centimeter, the area of the irregular shape is ( )

square centimeter ?

CELPELLL
EFEELEDRE
EiEEECNE
AR [
2 I P
2%




4A-B-C D ERAAE—RTEAR/ L0 7HEFHP AKIMD BERE—R CHAOZRAHLDWENHS - DEAIZ
AARFHES  ELECZ 249  BF % AIBR/T(___ )2 ?In an exam with a maximum score of 100, five
people, A, B, C, D, and E, took the test. A scored 94 points, B got the highest score, C's score is the
average of A and D's scores, D's score is the average score of the five people, and E scored 2 points

more than C and got the second highest score. What score did B get?

IS

b

1 98

5.A B MAMSEEZEEIBERREY  HEHEEESNMG - MR MHER L - WE A 85 60 RESHE—REE -
B ia—EliE= 80 )KREFMASE ZRABE - KiEMRZ(___ )R ?A and B are running at a constant speed in o
pposite directions around a circular track, starting from points at opposite ends of a diameter. If they s
tart at the same time and meet for the first time when A has run 60 meters, and they meet for the se
cond time when B has 80 meters left to complete one full lap, what is the length of the track in ()

meters?

IS

b

: 200

6.40[E - ~ABE F12aCDE 2LIE: E BB P OMMULIER - EFMBEA(3-4) -3 C(2-2) BD(3-1) -HIED
RIS FERS B ROEEARZ ? Given that 4ABE and ~CDE are similar figures with E as the center of similarity, and given
the coordinates of points A (3, 4), C (2, 2), and D (3, 1), find the coordinates of point B, which corresponds to

point D.
¥ S A

F f/\
s

LD

O B X

b

A (4:2)
B-B-(4-1)
C-C-(5-2)
D-D- (5-'1)
ER:C

TE—REE y=(k+3)x-1 IR ENE y BB xROIE KR/ B k ETIEER?If the value of the linear function y=(k+3)x-1 -
y decreases as x increases, what are the possible values of k?

A2

B. 3/2

C. -1/2



O
1
D

I
A
o

BETHEALZELRP FRE y=3x+2 WBEZM FFEB 3 BEURE FAERHBERHENILZ? In a Cartesian
coordinate system, if the graph of the function y=3x+2 is translated downward by 3 units, what is the equation
of the resulting function's graph?

A, y=3x+5

B. B.y=3x5

O —fEIEREMW n, 'EReH 3 5 BEER, (HAREW 7 BEBR, ST 1K A1E 9 R AR A2 38 18 1% 4 2 Given a positive
integer n that is divisible by both 3 and 5 but not by 7, which of the following numbers also meets this
condition?

A. 105

B. 90

C.120

D. 140

I3
bl
-

10— REGBFELSME D - MIEAESHNERKEZILUEFEELAS () B2 —ZFRAHTEF—ER LHNERR
ZODIBFES R (__ ) 89 - DULEE - HEEKSZILUEFEES % (__ ) #9 - Asingle line divides the plane
into two parts. Two non-overlapping lines can divide the plane into at most ( ) parts. Three lines, not all on
the same line, can divide the planeinto at most(  )parts. Following this pattern, ten lines can divide the plane

into at most( )parts.

I

b

1:4

I
bl
N
~

I
il
w
vl
o



11RERS - F - B—REMNE - 4 - FIZHE A4S Xiz25% - REF - FIZBE 60 Xz - REF  FIZHBE 90
Rlzse 4 - F—REEREREABEEERE RS 4 € - % (__ ) X?Thereare a cow, a sheep, and
a horse grazing on a pasture. The cow and the horse together can finish grazing the pasture in 45 days. The
horse and the sheep together can finish grazing the pasture in 60 days. The cow and the sheep together can
finish grazing the pasture in 90 days. The grazing rate of the cow and the sheep together equals the grazing
rate of the horse. How many days will it take for the cow, the sheep, and the horse grazing together to finish
grazing the pasture?

E=E .36

RA—FEBHELEBHER 789 BRF  54AEE% () B ?Tonumber the pages of a book, a total of 789
digits are used. How many pages does the book have?

%299

1.EB5 8 : 30 AR E - BEMBAREE - #E—BIRERIEE - SOERNKRSABM—ES - I1RH 3 @R
=[O A8 : 39 MAEAABR ; IRFA 5 ERED - Al 8 : 35 MBBANK - BESE—ERSREMBEE ()

F5f8 -The theater starts ticket inspection at 8:30, but there have already been people queuing up. From the time

.

IS

the first visitor arrives, the number of visitors arriving each minute is the same. If 3 ticket inspection counters
are opened, there will be no more people in line by 8:39. If 5 ticket inspection counters are opened, there will
be no more people in line by 8:35. What time did the first visitor arrive?

EZxz:7:45

2B BHEENEAFENEREE 1 FHEX AFRRABRMOERS () FHEX Asshown in the figure,
given that the area of each small square grid is 1 square centimeter, the area of the irregular shape is ( )

square centimeter ?

3408 - ~ABE #1aCDE 2% E BUBIh LRUMET - EHBA(3-4) -RC(2:2) -#D(3-1) -RAIED
RI¥IFERL B RIEEIRZ ? Given that ~ABE and ~CDE are similar figures with E as the center of similarity, and given
the coordinates of points A (3, 4), C (2, 2), and D (3, 1), find the coordinates of point B, which corresponds to
point D.



74 {1;\

o
o v
s S
ol By x

A(42)
B.(4-1)
C.(52)
D.(5-1)

Ex:.C

4E—REE y=(k+3)x-1 FIKEE y B& x B A TR/, Bl k ETJAER?If the value of the linear function y=(k+3)x-1 -
y decreases as x increases, what are the possible values of k?

A2

B.3/2

C-1/2

D.-4

I
il
o

SEFHEALRRZD BRY y=3x+2 WEZO N EB 3 BEURE FERHEZNETIZ? a Cartesian
coordinate system, if the graph of the function y=3x+2 is translated downward by 3 units, what is the equation
of the resulting function's graph?

Ay=3x+5

B.y=3x-5

Cy=3x+1

Dy=3x-1

BE:D

6AA—ABELIEBLEA 789 AHE - EAZEE) () & ?Tonumber the pages of a book, a total of 789
digits are used. How many pages does the book have?

BE 299

THEEZSG  B=IER 1,23 - REREZE-BARZAI-IEZMNERE - At - £HERZ -6 (123 + + WK
2) MEREZ6 ML 9918 () ?Thefirst three terms in a sequence are: 1, 2, 3. Each term after that is the
opposite of the sum of the three previous terms. For example, the 4th term is -6 (the opposite of 12 3 + +),
and the 5th term is 1. What is the 99th term?

BE:3

MBI~ B R B T FEFTIER ABCD #9%2 CD L£fFS DR=RT=TC -H # AR £ AT HAIRXE# BC B
IERANE M BB L B BT H BR HAIR B AD WERLNE S EE P - SXFTIHER ABCD WETE

2 48 m2 - BRREHSMEEZZ ) cm2 ? (As shown in the diagram, points R and T lie on side CD of



parallelogram ABCD such that DR=RT=TC. Lines AR and AT intersect the extension of line BC at
points M and L respectively, and lines BT and BR intersect the extension of line AD at
points S and P respectively. Given that the area of parallelogram ABCD is 48 cm2, what is the area of the

shaded region in square centimeters?)

S M

4 B

AV2+1

B.\/§+1
C_\/§+2
D.\/E+2

A

I

b

IBER—EARR 0 WEE n WAZRERXP  BEXARRBUTLERNT

1< p WESRO;

LB 22 n SR 0 K BEELHE 3 5RIS b WESK n BRI 10 BERE - #& p WEML b < n FR(n-b)
+10 - BERTLEHR 2 ;

HBE 3% q WESRK p BRI 9 WERE - KREHE p M g EREERL; REQEXBAEY 352759 - 5
meElEt p wEe () qmER ().

When any positive integer n is input into the program, the program will execute the following steps:

Step 1 : Setthe value of p to 0.

Step 2 : When n is equal to 0, jump to step 3. Otherwise, set the value of b to the remainder of n divided by 10.
Add b to p, set n equal to (n-b)+10, and repeat step 2.

Step 3 : Set the value of q to the remainder of p divided by 9. Output p and q in order, ending the entire
program.

Now, input the integer 3527594 into the program. What are the values of p and g that the program outputs?
BEL35

ExE2:8

10.2 4144 U=R, H£4& A={X|1<x<7}, B={x|x2-7x+10<0}, AI AN(C RB)=( )
Given the universal set U=R, the set A={x|1<x<7} - B={x|x2-7x+10<0}, find AN(C RB).



- (1,2)U(5,7)
- [1,21U[5,7)
- (L2)U(5,7]
- (1,21U(5,7)

L2 B

o N @ >

i

11 BNEREREEERS - BEMKEREE - £ LED—BRB/NIK - B IEERFE S - Alof$ % - Susan 2
e ses  EEEEgEsE () .

There are four game disks of equal area. When they are laid flat and a small glass ball is thrown onto them, if
the ball lands on the shaded part, you win a prize. To increase his chances of winning, Susan should choose the

game disk thatis ().

(A) (B) (C) (D)

DT

£ A

LAERERIA —BRRIBEE . Bk 2 B, BERBE T LI IR0 3 5, AERER 2 B R
RS 51, ERIER 4 K RAIREEES 6 [, MERERE 5K RAEIREEE 7 BB, sigA biEx, —
WARE. LR, Ror () .

In front of you is a long staircase. If you take 2 steps at a time, there is 1 step remaining at the end; if you take 3

I

steps at a time, there are 2 steps remaining; if you take 5 steps at a time, there are 4 steps remaining; if you take
6 steps at a time, there are 5 steps remaining; and only if you take 7 steps at a time, you will finish exactly
without any steps remaining. From this, it can be deduced that the staircase has at least ( ) steps.

%% 119

2FZNR A EREEE, BEAREETERERN LA, B OEARER THEN R, BT
R EHE, BEEZAR-EE () M#HE? Grandma Wang went to the market to sell eggs. The first
person bought half of the eggs in the basket plus one more egg. The second person bought half of the
remaining eggs plus one more egg. After that, there was one egg left in the basket. How many eggs did
Grandma Wang sell in total?

HHE: 9

3 (1+i) + (-0 = (O

ER: -8

431 < x,y,2< 6, MAKWX, y, z KFRmER 10 Bhintrg () &

Giventhatl < x, Y,z < 6,andx, y, zare natural numbers, how many cases are there where the product x,

y, zis divisible by 10?
BE: T2



SRR —ERTA 0 BB n AR, RO IR LUR P BRAT

S 1 4 p KAESR O

AR 2.5 n S O By, BHEAEUPER 3, WRIS b IESER n BRLL 10 MEREL K p BIEML b, & n &4 (n-b)
+10, HEHITLE 2;

AR 3: 4 q MESR p RO 9 HIEREL R p A1 g, AUBMERENA:  BEmRE AR 3527594, &
MR p mmEs (), qmEs ().

When any positive integer n is input into the program, the program will execute the following steps:

Step 1: Setthe value of p to 0.

Step 2: When n is equal to 0, jump to step 3. Otherwise, set the value of b to the remainder of n divided by 10.
Add b to p, set n equal to (n-b)+10, and repeat step 2.

Step 3: Set the value of q to the remainder of p divided by 9. Output p and q in order, ending the entire
program.

Now, input the integer 3527594 into the program. What are the values of p and g that the program outputs?
%% 1:35

%H2: 8

6. 44 U=R, #£4& A={x|]1<x<7}, B={x|x2-7x+10<0}, AJAN( RB)=( )

Given the universal set U=R, the set A={x|1<x<7}, B={x|x2-7x+10<0}, find AN(C RB).
A. (1,2)u(5,7)

B. [1,2]U[5,7)

C. L2)u(57]

D. (1,21U(5,7)

%FB

776 VU880 HIRARSE, e MK ROREAR, L LIy — R ek, B /NBREAERZRE sy, RIArpaE, Susan B
wn e e, R EsasE () .

There are four game disks of equal area. When they are laid flat and a small glass ball is thrown onto them, if
the ball lands on the shaded part, you win a prize. To increase his chances of winning, Susan should choose the

game disk thatis ().

(A) (B) (C) (D)

BEA

84— A4 - E IS ILE N 789 (KT, EAZEAH LA () H? Tonumber the pages of a book, a total of 789
digits are used. How many pages does the book have?
HH: 299

QAEREIT, W=IHE L, 2, 3. MEHEES IRAR AT IR MAA R B fln, SEDUIER -6 (123 + + (MK
B0, MHHIEL 6. M5 991EE () ? Thefirst three terms in a sequence are: 1, 2, 3. Each term after that is



the opposite of the sum of the three previous terms. For example, the 4th term is -6 (the opposite of 1 2 3 +
+),and the 5th term is 1. What is the 99th term?
HHE: 3

10.E 41428 an} |l n IEAIZ Sn, al+a5=0.5S5, H a9=20, AJS11=( )

Given an arithmetic sequence {an} with the sum of the first n terms denoted by Sn, it is known
that al+a5=0.555 and a9=20. Find S11=( ).

A. 260

220

130

. 110

%: D

» O 0w

118 — o5, RS 27 S84, R 6 (i 23T B EIZG: A 23 584, RE 9 (i Bl AT EIZ G,

Bk 21 g8, () BRI

There is a pasture with grass. If 27 cows are grazing, the grass will be eaten up in 6 weeks. If 23 cows are grazing,
the grass will be eaten up in 9 weeks. How many weeks will it take for 21 cows to eat up the grass?

HH: 12

LA — R RAIREDEE 2 B, MERERT 1R, RORcDE 3 B, IRERER 2 B HRaniR
KPS 5 B, ERAZR 4 B8 BROREEEE 6 B, WERRR 5B, NAERELE 7 Bk, BBRAIEIFER, —B
WA . AT LS, Bl () BB,

In front of you is a long staircase. If you take 2 steps at a time, there is 1 step remaining at the end; if you take 3
steps at a time, there are 2 steps remaining; if you take 5 steps at a time, there are 4 steps remaining; if you take
6 steps at a time, there are 5 steps remaining; and only if you take 7 steps at a time, you will finish exactly
without any steps remaining. From this, it can be deduced that the staircase has at least ( ) steps.
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2(1+i) + (-0 = (O
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Giventhatl < x, Y,z < 6,andx, y, zare natural numbers, how many cases are there where the product x,

y, zis divisible by 10?
H%: 72
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One day, a young man came to Mr. Wang's shop to buy a gift that cost $18, with a selling price of $21. The
young man paid with a $100 bill. Mr. Wang didn't have change, so he exchanged the $100 bill for smaller

denominations with a neighbor and then gave the young man $79 in change. Later, the neighbor discovered



that the $100 bill was counterfeit, and Mr. Wang had to pay the neighbor $100. The question now is: how much
money did Mr. Wang lose in this transaction?
BHE: 97
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There are four game disks of equal area. When they are laid flat and a small glass ball is thrown onto them, if
the ball lands on the shaded part, you win a prize. To increase his chances of winning, Susan should choose the

game disk thatis ().

(A) (B) (C) (D)
EREA
SAh—AEM L EASILE] 789 MY, EAEA%Z> () H? Tonumber the pages of a book, a total of 789

digits are used. How many pages does the book have?
HH: 299
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The constant term in the binomial expansion of (x - —j is?
X

A Crgy

B. Couny

C. —Co

D. ~Cou
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A four-digit number, when added to the sum of its digits, equals 1972. Find this four-digit number.
B 1949
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The equation X~ — 12x+a =0 has three distinct real roots. The range of values for the real number a is



9.cos(\/1—\/x2+5x+7 X +5x46)= )

Bx: 1
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The axial cross-section SAB of a cone is an equilateral triangle with side length 2. O is the center of the base,
and M is the midpoint of SO. A moving point P is within the base of the cone (including the circumference). If

AM L MP, the length of the trajectory formed by point Pis ().
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